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2023
COMMERCE
( Honours Elective )
Paper : COM-HE-6016
( Fundamentals of Investment)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10
Ao wore arn Tex w4 ¢
(@) Write the full form of CARE.
CARE ¥ ff ®witht fapait |

Contd.



(b} Which of the following is an example of
financial derivative ?

Tuias ¢

i) Share (TI%)
(ii) Debenture (349{3)
(i) Forward contract (S2d@! pf&)

(iv) GDR (Rfe=nq)
(Choose the correct alternative)

(%% Resor A Claear)

(c/ Who is the propounder of dividend
capitalisation model ?

T YA PR T TERS (A7

()  Myron J. Gordon (W& (%, &)
(i) David Ricardo (CGfow fRiet)
(i) Adam Smith (s )

(iv) John Stuart Mill (a% %6 fiw)
: (Choose the correct alternative)

(% Reseo! A Bfea)

(d) On which date SEBI introduced
compulsory trading of shares of listed
companies in ‘DEMAT’ form ?
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‘GR @ @ e wiFeE @INR
TR (e TETD” (S ARgORE Fa?
(i) 1st January, 2016
(i) 1st April, 2017
(iii) 1st January, 2018
(ivj 1st April, 2019

(Choose the correct alternative)

(% R[eses) A Tfaea)

fe) Who is the regulatory authority of
Indian securities market ?

SRS UK IGRT RGP FEF (i 2

(f/ NAV is a fund per share market value.
NAV ¥ J&iq o7 ofe @bt #fE|

(The statement is True/False)

(Cfets! wa/ o19%)

(g) “Securities market is a market for
equity, debts and derivatives.”

“afegf® TwR 25 FIIoE, Woio = TS
FfefeR T@= _
(The statement is True/False)

(Cfeehr wa/ 9u5)
(h) Bond is a risk-free security.

78 Gy Rom amiceifd efesfs |

(The statement is True/False)
(et va/5o%)
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Il

i) SBI mutual fund is the first public
sector mutual fund in India.

GRoE, Trmew e A oRed AW
el Aeq Trrrer offer |

(The statement is True/False)
(fersr va/a9%)

() Investment in equity is safer than
bank fixed deposit. :

FedE [ @@ o e @R

feriom |
(The statement is True/False)

(Cfe! 8%/ 99%)

2. Answer questions of the following in about *
50 words each : 2x5=10

O MY AT AW @o B Wi W% fTede Teq
40 8 :
(a) Give the meaning of equity share.

3P35! Wy o |

(b) State any two risks associated with
bonds.

AT 0TS ©fSs R whr Rew g
T 9010

(c) Explain any two types of financial
derivatives.

Riceca 72 =i @ b 1 et 2 |
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(d) Write two functions of SEBI.

e 70 FrGRE o

(e) Explain any two assurnpt1ons of
technical analysis.

i) R 7By Qe I 34 |

3. Answer any four questions of the following
in about 150 words each : 5x4=20

oA [l 5IfAbT o9 ACSRE Al Seo B W
*7q foeqe Ted fordl ¢

(a) Explain the structure of Indian
securities market.

SR afegfe awea o 3t =4 |
(b) Write a note on price earning ratio.
P.E. SeoiIex ¢oge @it (G |

(c) Describe the factors affecting the
.choice of mutual fund.

Trze Ffer e ereifie
GoATE SB35 |

(d) What do you mean by fundamental
analysis ? What are its objectives ?

chfere fRese et & 3@t 2 2w SR
=01 4 |
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fe} Write any five functions of stock
exchange.

afvsfs Rifsm e R Ao bR
ot '

(fl State any five featﬁres of bond.
9T R Azt e S w4 |

4. Answer any four questions of the following
in about 600 words each : 10x4=40

T LRI BB SR O S voo B W
%9 fooge Tew a1 2
(@) Explain briefly about different types of

investment stating their advantages
and disadvantages.

TR = SRR S 3R {fen dere
Ricat i s e 2

(b) Do you think that credit rating is an
important service for the investor ?
Justify your answer.

ﬁﬁmw%wamw@%@rﬁem

ammﬁamg%wﬁmwmmvmm
&R LTS I s |
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(c)

(@)

fe)

What do you mean by mutual fund ?
Discuss the different types of mutual

‘fund. 2+8=10
Trzem Afe Iene B o Rivn awee
et Afferre Wi = |

Discuss the role played by SEBI in the
protection of interest of the investors
in Indian securities market.

Re dfogfed quRe RifcHeR wee
7Y e sRE SEBI @ 9%l w4 g
SNCEAGA 34 |

What are the basic features of
financial derivatives ? Also state briefly
about the major participants in
financial derivative market. 5+5=10

8 feaizrefes 3o whigam & e fd
Caidrefbe wmm & wmammR s
R st R 3= |

What is efficient market hypothesis ?
Discuss about the different forms of
efficient market hypothesis.

IR IR Gl e IR q@ g
fRfen aoreze Rac wicemar a1
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(g9 What do you mean by bend ? Mr. X
purchased a 10% coupon rate bond.
The bond have a face value of
Rs.10,000 and maturity of 4 years. If
the current market interest rate is 8%,
find the value of the bond using
present value method.

If the current market price of the bond
is Rs.9,000; state whether X should
sell it or hold it till its maturity, along
with the reason.

(Present value of Re.1 at 8% discount
rate is as follows :

1 year - 0.926, 2 years - 0.857,

3 years — 0.794, 4 years — 0.735)
fiBR X @ 10% 399 T 3¢ & @[ | @3
63 fAf® E 10,000 5o W% v 4 IA |
% @ BfeTS T T 8%, IEAW Top) “iwfe
I IR 393 T [effwe 0|

I 293 5fere ITR T 9,000 5 W, X @
0 RF MG The =WEm TR S
! ThHe 29|

(8% TR T® 1 T34 I&TW Yoy were iz
LU .

19 323 — 0.926, 27 I/ — 0.857,

37 IAF — 0.794, 44 I/ — 0.735)
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